Lhrifhlier Lioreolisitioe von ot Ha 09

F wwww.mathematik-verstehen.de
(9000 o +40045 + M +0t) =

A000000 't + 2400070 p b - 70 00 L°
L2 A000(40a58)c ¥  _qprct
+1 ‘40{/;& Whre)a v at

/56 29 42 96 = ¥ 53¢

»{:{_9_ 25 o P
1! ;OL —30 &% 35 7
-~ 5 "’-5-2 1

2 > 54 :to9zp =
T gz;”_ é—"kﬂ z24 <
gogg[g —aj’p}j__pm“zg -a,g
e Joskg<; 1578 ?j‘j

~ 90z
5 36‘ “~ &
V3739 ’ 5‘19?'/“’%—\
i o
70 3[4 e 5'_2 =9
_/,0:}1"' r:-——,{yo — 45
- 9;311 S_q%gﬂ—r 50 —*—*—7;
-‘fl_f k“?l‘ 4.’—‘*“' f"f g
2 i Ly e 15
Sp2fp A ks
- 232 0&4—';4{'?&3_?5_‘1 STy Y
L9

=

T
Ty sl =

T2 %0 5’ Oy 814000 — Yo r 221" 5 59367 R,
I4 2 az o €FBIE 358, |
ik $4240¢
/ro;f?aaﬂ ..3_:»3?-’133’10-——-—» ¢
]

f My hrvcoh


User
Bleistift

User
Bleistift

User
Bleistift

User
Bleistift

User
Bleistift

User
Bleistift

User
Bleistift

User
Bleistift

User
Bleistift

User
Schreibmaschinentext

User
Schreibmaschinentext
wwww.mathematik-verstehen.de

User
Schreibmaschinentext

User
Schreibmaschinentext

User
Schreibmaschinentext




